

The undersigned hereby declares that the instructions and specifications have been carefully examined, including all documents and addendums posted on the MITN.info website for this invitation to bid, and agrees to be bound by all the terms of this bid document and that **UTILITY STRUCTURE AND CONCRETE REPAIR** will be furnished for the prices set forth on this bid form. It is understood and agreed that all bids are **F.O.B. DESTINATION**, that all bid prices shall remain in effect for at least ninety (90) days from the date of the bid opening to allow for the award of the bid and that, if chosen the successful vendor, the prices will remain firm from date of award through November 30, 2026, with the option to extend two (2) additional one (1) year periods under the same pricing, terms and conditions upon mutual consent.

**PAY ITEM GRAND TOTAL (from page 27)** \$ 1259,00

**JOBSITES #1, #2, #3 GRAND TOTAL (from page 29)** \$ 8679,00

Company Luigi Ferdinandi & Son Cement Co. Inc.  
Address 16481 Pomona  
City/State/Zip Roseville Mi 48066  
Representative>Title Luigi V. Ferdinandi, Vice President  
Telephone/Fax (586) 774-1000  
E-Mail Address/Website INFO@  
Terms Net 30 days  
Signature/Date Luigi V. Ferdinandi 12-10-2024

All quantities indicated are estimated amounts for one (1) year and may vary during the course of the contract. The estimated quantities are used for assisting in the determination of the lowest responsible bidder. It is the intent of the City to purchase the services in the quantity and frequency as listed in this bid, however, the City reserves the right to reduce or eliminate this purchase without prior notice. The City reserves the right to split and/or reject all bids to realize the greatest cost savings.

Several Utility Structures are in need of repair.

Each pay item in the contract shall include labor, time and material needed for restoration to meet City standards. Invoices will be reviewed and paid based on pay item unit prices bid multiplied by the actual quantities required to complete the work at a jobsite. Award of the contract will be based on the unit prices submitted. The City reserves the right to add or delete quantities from the bid.

Contractor Name: Luigi Ferdinandi & Son Company, Inc.BID PRICING BY PAY ITEM UNIT COST

<u>Pay Item Description</u>	<u>Unit</u>	<u>Unit Cost</u>
Reconstruct Utility Structure	V.F.	\$ <u>100</u>
Utility Structure Rehabilitation	EACH	\$ <u>600</u>
6" Edge Drain	L.F.	\$ <u>15</u>
Remove and Replace 9" Concrete Pavement	SYD	\$ <u>110</u>
Remove and Replace 7" Concrete Pavement	SYD	\$ <u>90</u>
Remove and Replace 6" Concrete Drive Approach	SYD	\$ <u>50</u>
Remove and Replace 6" Sidewalk Ramp	SYD	\$ <u>50</u>
ADA compliant Detectable Warning Surface	EACH	\$ <u>175</u>
Remove and Replace 4" Sidewalk	SYD	\$ <u>50</u>
MDOT 21AA Crushed Concrete – C.I.P.	CYD	\$ <u>3</u>
Restoration – Topsoil & Seed	SYD	\$ <u>1</u>
Restoration – Sod	SYD	\$ <u>5</u>
Restoration – Topsoil	CYD	\$ <u>10</u>
<b>PAY ITEM GRAND TOTAL:</b> (Please carry total forward to page 26)		\$ <u>1259,00</u>

BID PRICING BY JOBSITE

Using the Pay Item Unit Cost bid pricing above, calculate below the typical cost to repair three average jobsites (Use the Unit Costs from page 27 for purposes of completing page 28. The quantities shown below are for estimating purposes only and may or may not represent the actual amounts or relative amounts of work for a specific jobsite.

Contractor Name: Luigi Ferdinand & Son Cement Co.**Jobsite #1: Typical Catch Basin Reconstruction in Local Roadway (60 Locations)**

<u>Item Description</u>	<u>Unit</u>	<u>Unit Cost</u>	<u>Est. Qty</u>	<u>Total</u> ( <u>Unit Cost x Qty</u> )
Reconstruct Utility Structure	V.F.	\$ <u>100</u>	5	\$ <u>500</u>
6" Edge Drain	L.F.	\$ <u>15</u>	12	\$ <u>180</u>
R&R 7" Concrete Pavement	SYD	\$ <u>90</u>	22	\$ <u>1980</u>
MDOT 21AA Crushed Concrete	CYD	\$ <u>3</u>	1	\$ <u>3</u>
Restoration – Topsoil & Seed	SYD	\$ <u>1</u>	3	\$ <u>3</u>
<b>Jobsite #1 Total:</b>				\$ <u>2,666.00</u>

**Jobsite #2: Typical Catch Basin Repair in Drive Approach (10 Locations)**

<u>Item Description</u>	<u>Unit</u>	<u>Unit Cost</u>	<u>Est. Qty</u>	<u>Total</u> ( <u>Unit Cost x Qty</u> )
Utility Structure Rehabilitation	EACH	\$ <u>600</u>	1	\$ <u>600</u>
R&R 6" Concrete Drive Approach	SYD	\$ <u>50</u>	17	\$ <u>850</u>
R&R 6" Sidewalk	SYD	\$ <u>50</u>	8	\$ <u>400</u>
MDOT 21AA Crushed Concrete	CYD	\$ <u>3</u>	3	\$ <u>9</u>
Restoration – Topsoil	CYD	\$ <u>10</u>	2	\$ <u>20</u>
Restoration – Sod	SYD	\$ <u>5</u>	10	\$ <u>50</u>
<b>Jobsite #2 Total:</b>				\$ <u>1929.00</u>

Contractor Name: Luigi Ferdinand & Son Cement Co., Inc.Jobsite #3: Typical Catch Basin Reconstruction in Major Roadway (5 Locations)

<u>Item Description</u>	<u>Unit</u>	<u>Unit Cost</u>	<u>Est. Qty.</u>	<u>Total</u> ( <u>Unit Cost x Qty</u> )
Reconstruct Utility Structure	V.F.	\$ <u>100</u>	6	\$ <u>600</u>
6" Edge Drain	L.F.	\$ <u>15</u>	12	\$ <u>180</u>
R&R 9" Concrete Pavement	SYD	\$ <u>110</u>	22	\$ <u>2420</u>
R&R 6" Sidewalk Ramp	SYD	\$ <u>50</u>	6	\$ <u>300</u>
R&R 4" Sidewalk	SYD	\$ <u>50</u>	8	\$ <u>400</u>
Detectable Warning Surface	EACH	\$ <u>175</u>	1	\$ <u>175</u>
MDOT 21AA Crushed Concrete	CYD	\$ <u>3</u>	3	\$ <u>9</u>
<b>Jobsite #3 Total:</b>				<b>\$ <u>4084.00</u></b>

**JOBSITE #1, #2 & #3 GRAND TOTAL:** Add totals for Jobsites #1, #2 and #3 above (pages 28 and 29). Enter here and on Page 26:

\$ 8679.00

This form **must** be completed and returned with your bid.

## **IX. COOPERATIVE AGREEMENT**

The City of Sterling Heights is a member of the MITN Purchasing Cooperative consisting of many cities, townships, counties and other governmental agencies throughout Michigan. If your company is awarded item(s) referenced in the bid, the cooperative governmental entities may wish to use this contract and will use a purchase order for the item(s) awarded in this bid following minimum order requirements set forth in the bid document. Each entity will provide their own purchase order and delivery location(s) and must be invoiced separately to the address indicated on the purchase order.

If an award is made to Luigi Ferdinandi & Son Cement, it is agreed that  
(Company)

the contract will be extended to the MITN Purchasing Cooperative under the same prices, terms, and conditions.

Signature of Company Representative Luigi V. Ferdinandi

Our company is NOT interested in extending the contract.

Company Luigi Ferdinandi & Son Cement Co. Inc.

Address 16481 Common Rd.

City/State/Zip Roxbury MI 48060

Representative/Title Luigi Ferdinandi, Vice President

Telephone/Fax (586) 774-1000

E-Mail Address/Website INFO@luigicement.com

Signature Luigi V. Ferdinandi

This form **must** be completed and returned with your bid.